20010 20120 301

goooobobooooogd

20120 30 2100



goooooboooooao

1.1
1.2
1.3
14
1.5
1.6
1.7
1.8
1.9

gooooog 2

2.1
2.2
2.3
2.4

3.1
3.2
3.3
3.4

oood

00000000000 © .+« ot vt et e e e e e e
0000 RO R+ o o oo e e e e e e e e
ROOOOODO o e e e e e e e e e e,

d*y

Pl

= 000 R, R 0000 ..o s

Eyo00000000 T 000 oottt
e+ E o 00000000000 « ..ottt

oo ..

oood

W~

© 00 g O Ot

10
12

14
14
14
21
23

25
25
25
27
28

29



Contents

1. Akira ASADA: Uniqueness of Solutions of Differential Equations: Revisited
. Tadashi YANO: Discovery of Quaternion 2
3. Shozo NIIZEKI: Fundamental Inequality of the Exponential Function

and its Applications
4. Tadashi YANO: Editorial Comments

N



Jotobooboodgbotooonon

Uniqueness of Solutions of
Differential Equations: Revisited
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googd gooo

0000 (a+iy+j2)(x+iy+jz)=ax—y?> — 22 +i(a+2)y+jla+x)z2000 v0
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any ar — y? — 22
Oo00o000000 240000
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N o L e ) (0t D) ET R
oAY __ Aap

ar —y? — 22

024: 000 (ax—y? -2 +i(a+2)y+jla+2)2 0000000000 O,P,QOOO0O 0O(0,0,0),P(az —
y2—z2,0,0),Q(a1‘—y2—z2,(a+x)y,(a+x)z)DDDD

000000 a+p8=+0

21 .2 21 .2 Si2 4 22
arctan vy e + arctan vy e arctan (a+e) 2y —1-22 (2.12)
a x ax —y? —z

oooooo
0000000 (2.12) 0000000000000 O0OOOOOOOOO
(27) 000000000 0O0OO0O 2.2,2.3,2400

cosy = cos(a + ) (2.13)
siny = sin(a + ) (2.14)

gbooboaooboooobgan
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OO00Ocos(a+P)=cosy0000000O0O0OOOOO 2.2,2.3,2400

cos(a + ) = cosacos § — sinasin 8

_ a T B \/y2+z2 \/y2+22
Va2 + 2+ 22 /a2 + 2+ 22 a2 +y2 + 22 /22 +y2 + 22
2

_ ax —y* — 2z
Va2 +y2 + 22 /a2 + y2 + 22

= cosy

0000o00o0oU0ooooo (2no0o0ooooo
O00Osin(ae+0)=siny0000000000000000O0O 2.2,2.3,2400

sin(a + ) = sina cos B + cos asin 8
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_ (a4 x)\/y? + 22
Va2 +y2 + 2222 +y2 + 22
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000000000o0o0ooo (270000000
O0000000o(213),2.14)0000000000O0O0ODOOOOOO

tan(a + B) = tan~y
gooobbbboooobobobobog
y=a+ [+ nm, n =Iinteger
g000dD00do0<a<2m0<p8<2mn0<y<2r 0000000000 n=0000000000O
Ty=a+p (2.8)
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0000000000000000000000000 (selfcontained) 000000 [1]O00000O0OOOO
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(a+ib+jo)(x + iy + jz) = (ax — by — cz) + i(bx + ay) + j(cx + az) + ij(bz — cy) (2.15)

oboboobOob0nn=—y 0000000000
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(ax — by — c2)* + (bx + ay)* + (cx + az)? + (bz — cy)? = (a® + b* + 2) (2 +y* + 2?) (2.16)

00000000+ =k00000000000(0000000000000D00 HamiltonOODOOO
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0000000215004 00000 (bz—cy)DOOOO

(ax — by — c2)* + (bx + ay)® + (cx + az)® = (a® +b* + ) (z* + y* + 2?)
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ocoooodobD y=k00000000000 kOOOOOODOOODOOOODOOOODOOODODO
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000000000o0OoD?200
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O0000k2=—-100000

(a+ib+je+ kd)(z + iy + jz + kw)
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‘00000000000000000000D00000000000000000000000000000
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0000000000OD?200
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gbooobooboobobogon
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0 A2+ B24+C?+D200000 2adzw 000000000
oooo
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0000000
ij=k, ji=—k

O00000000000 Hamiton O OO OOOD

20
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ooooooooooo.e,,k0D0000000000000000O0DO
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gbooan

(a+ib+jc+kd)(z+iy+jz+kw)=A+iB+jC+ kD

A=ax—by—cz—dw

B=br+ay—dz+ cw

C=cx+dy+az—bw
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gooooooo

A2+BQ+CQ+D2:(a2+b2+c2+d2)(x2—|—y2—|—z2+w2)

(2.18)

(2.19)
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00000000 Hamilton 3000000 (219)0000000000(216)000000000000
00000000(216)000000d0 wDOODODOO0DDO00DO0000O00O0 2000000000 (2.19)
0A2+B24C?+D?’00000000000000000 000000000000

A% B?2 C? D?00d0wO0000000D0O0O00O0ODOO0DOOOOOODOOO

— 2adxw + 2bdyw +2cdzw

—2bdxz + 2bcxw —2adyz + 2acyw —2cdzw

+ 2cdzy — 2bcrw +2adyz — 2bdyw —2abzw
— 2cdxy +2bdxz 4 2adrw — 2acyw +2abzw

=0

gooobO zy,zz,zw,yz,yw,zw 000 00000O0O0O0O0O0O0O0O0O0O
0000(21900000000004d20 200000000000

d2w2+d222+d2y2+d2m2+02w2+b2w2+a2w2:dQ(xz+y2+z2+w2)+(a2+b2+c2)w2

goooood (2.19)DDDDDDDDDDd2D w00000000oooooono
DDDDDD(2.16)DDDDDDDDD (2.19)DDDDDDDDDDDDDDD
Ooo00ooooooooao
Ipal? = |pl?lql? (2.20)

OO0000O0O000DO0O0000O0oO00d0d HamitonOOOOOOOOOOOO

23 EulerOUOQOQOOOOO

OO000O0o00DO0O00D0CO0000EerD0000C00DOO0O0ODOCO0OOO0O0ODO Eulerdnood
googoood

e = cosx +isinx (2.21)

dodoododoooobooooooboooooooboooaao
000000000000000000 a+ib+jec+kd=(a,b,c,d),z+iy+jz+kw = (x,y,z,w) 000
oooooooooo (2.18)D x:S,y:t,z:%w:UDDDDDDDD(?.IS)D

(a,b,¢,d)(s, t,u,v) = (as — bt — cu — dv,bs + at — du + cv,cs + dt + au — bv,ds — ¢t + bu + av)  (2.22)
gooodooooooooooon
(a,b,c,d)* = (a® = b* — ¢® — d?, 2ab, 2ac, 2ad) (2.23)

oooobooooo
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000000 (223)0 a=0b=x2,c=y,d=2>0000 (0,z,y,2)0000000000000000

(07 x’ y? Z)

(0,2,9,2)* = —(¢® +y* + 2°)
0,2,9,2)> = —(2® +y* + 2°)(0,z,y, 2)
0,2,y,2)" = (¢ + ¢ + 2°)?
(0,2,y,2)° = (% + y* + 2°)°(0, 2,9, 2)
( 2)6_—(1‘2—1-];24-22)3

( 2)7: —(I2+y2+22)3(0,1‘,y72)
( z)

8 _ (1’2+y2+22)4

0’33’297

O? x? y?
0,z,y,

good

(1,0,0,0) = 1
(]‘707 0’ 0)(07x’y7 Z) = (07 x? y,Z)
0,2,9,2)* = —(a® + y* + 2°)

gooooobooogoooo
boboobooboooboobooobobooboobobooobOobooooobooon
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(0r:2) — cos /I g2 4 24 —LEIVENE Bt 2 (2.24)

000000 (224000000006 0 Maclawrin 000000000000
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71+im+jy+kz (ix + jy + k2)?  (iz+jy+k2)®  (iz + jy + k2)*

1! 2! 3! 4!
1 1 1
:1+F(0,x,y,z)f§(x2+y2+22)(1,0,0,0)7§($2+y2+22)(0,x,y,z)
1 1 1
+ @ Y7+ 20)%(1,0,0,0) + (2 + 47+ 2°)%(0,,y, 2) — @ + 7 +27)7(1,0,0,0) + -
1 1 1 . 1
= [12'(a:2+y2+22)+4|(a:2+y2+z2)26|(x2+y2+z2)3+8|(x2+y2+z2)4~~l
11 1 1 1
+ [1‘—?)‘(x2+y2+22)+5'(x2+y2+z2)2—7'(372+y2+z2)3—|—w(x2+y2+z2)4—-~l (0,2,y, 2)
] j k
:cos\/x2+y2+z2—|——w+]y+ : siny/x? + y? + 22
/.T2+y2+22

000 (2240000000
Hamilton 000000 B]0000000 cosy/a?2+y2+2200000000 cos(z?+y*+22) 0000
000000000000 000000000D0D000000000000000O000O0
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oooole®=y?)|=10000000000000

|e(0:2:0:2) |2

*

1 ) ] 1. . .
cosr + —(ix + jy + kz)sinr| [cosr + —(iz + jy + kz)sinr
r T

= cos?r + sin?r

=1, where r?=2%4y*+2° (2.25)
DDDDDD\e(o’m7y’z)|=1DDDDDDDDD *0000000000ooooo
od
r= /x2+y2+22
T = rCoSs ¢
Yy = 7sin ¢ cos Y
z =rsin¢siny
ooooo 250000
rlicosgtysingcosythsingsing) _ gy 4 (icos ¢+ jsin ¢ cos ) + ksin psin) sinr (2.26)

(1‘7 y’ Z)

0253000000

OO0 Euer000O00O0DOOOO0ODOODOD¢e=0000000

T=r
y=0
z=0

goooo

e = cosr +isinr
O0O0OO0Euer00OO0OOO

24 0000
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goooobono* oboroob 3booboobooogoobooobooboobboooDOoooooOoD gy
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(2012.2.29)
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0000000 40000000 z,y,2000 2500000000000 2 —z,y—2a,z—y000
0000000000000 0000O0¢0O00 (polar angle)dy 0000 (azimuthal angle) D000
ooddOn0O0O0OoooOOO

x1 = 1 cos by,
T9 = rsin by cos by,

r3 = rsin # sin 05 cos O3,

Typ_1 =rsinfysinfsy...sinb,_cosb,_1,

T, =rsinfysinfy...sind,_osinf,,_;.

gbooaboooogooo
b0 n=30000300000000

r1 = rcosfy,
T9 = rsinfy cos s,

r3 = 7rsin 01 sin O,

00000000z =220 =y, 23 =200 =¢,00 = 0000 0Hamilton 0000000000000
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Fundamental Inequality of the Exponential
Function and its Applications
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